
IMPORTANT - READ CAREFULLY - RETAIN FOR 
 FUTURE REFERENCE

Heavy Duty Bunk Bed 

Assembly Instructions 



Hardware

Parts

1 
Allen Key to fit M8 Bolt

27 
M8 Flat Washer

23 M8 x20mm Bolt 

4  M8 x 40mm Bolt

1 x Left End Frame   
1 x Right End Frame 
1 x Ladder        
1 x Front Safety Rail  
1 x Back Safety Rail 
1 x Lower Mesh Base 
1 x Upper Mesh Base 



Step 1 - End Frames Fixing To 
Upper & Lower Mesh Base

16 16 M8 x 20mm

Please Make Sure Fixings are loosely fitted until the  very end 
when they all need to be securely fastened 

Left End Frame 
12 Bolt holes 

Right End Frame 
10 Bolt Holes 

Lower Mesh Base 2 bolt holes on right 
 hand side to attach ladder 

Upper Mesh Base 2 bolt holes on right 
 hand under side to attach ladder 



Front Support Rail

Step 2 - Fitting of Front and 
 Back Safety Rails

7 7 M8 x 20mm

Attach front and back safety rails to frame by 
the relevant bolt holes. 

1



Step 3 -Ladder Assembly

Fixing points for ladder located on underside of 
upper mesh base and side rail 

of bottom mesh base. 

4 4 M8 x 40mm

After all these steps have been completed please 
 make sure all bolts are securely fastened.



Please take the time to carefully read these instructions before 
beginning assembly. 

Before assembling, unpack, inspect and check off all of the contents. 
This is a 2 person assembly 

Please dispose of all Packaging carefully 
Small component parts should be kept away from children, they could choke a child 

 if swallowed.We advise you keep children away from your working space. 
When beginning assembly make sure the bed is as close to its intended place 

 as possible to avoid unnecessary movement, 
Do not Place a Bunk Bed near a window or light fitting 

• Only 1 person per top bunk – These are not made for play equipment.
HANDY HINT: If you keep the hardware in a bowl during assembly you will be less 

likely to lose them. 

Once Assembly is complete make sure all fittings are tightened sufficiently. 
WARNING: High beds and the upper bed of bunk beds are not suitable for children 

under six years due to the risk of injury from falls. 
WARNING Do not use this bunk bed if any structural part is missing or broken. 

WARNING Bunk beds and high beds can present a serious risk of injury from strangulation 
 if not used correctly. Never attach or hang items to any part of the bunk bed that 
 are not designed  to be used with the bed, for example but not limited to ropes, 

strings, cords, hooks, belts and bags. 
WARNING: Children can become trapped between the bed and the wall, a roof pitch, the 

 ceiling, adjoining pieces of furniture (eg cupboards) and the like.. 
 To avoid risk of serious injury the distance between the top safety barrier and the adjoining 

structure shall not exceed 75mm or shall be more than 230mm. 
The largest size of the upper bunk bed mattress recommended is : 190 x 91 x 16cm. 
The bed has been tested to ensure compliance with BS EN 747-1:2012 + A1:2015

Safety Advice

Important Information



General Information

When Cleaning the Bunk Bed avoid using household cleaners OR abrasives - We 
recommend wiping clean with a soft damp cloth.

We Recommend you regularly check and re - tighten fixings if necessary.

Warning - This Bunk Bed is heavy, Please ask for assistance when lifting to 
avoid injury.

Moving Your Bunk Beds- Do not push or pull the product 
across the floor, this could cause damage to the structure of the bed and the 

 joints. Failure to follow this advice may  
invalidate your guarantee.  Lift them into place carefully, 

Ventilation of the room is necessary in order to keep the humidity low and to 
 prevent mould in and around the bed 

If you have any Questions regarding this product or require any help with assembly 
 of our Heavy Duty Bunk Bed Contact Us On 

 01785 250888


